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1. ATIEBRIBE KB BB IE 75 tonZ MM EMEHE
B HEREFERR  HAEMRTESY  SELHESES
75 /4= 18.8 ton
LRSS 10 m - RBEBAEMESEEHKCE L
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imAnSRE = 200 kgf/cm?
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2. HIEEE A

—RETEELBEEERESBIFEE  HEHAFHHOARS t/m’
BEKBZEES 80 cm @ BEEMRE 7 XEEHBER/LI0M, MEEE DT RS

Q=P/A=18.75/((80/100) x 10) = 2.34 t/m? <Qa =5t/m2..okay
3. K BECApRL &

BREHEIMEIOMBER - FHIEER -

g= 18.75/10= 1.88 t/m

BEKCBLUEEERET ERARERES !

Mu= 1/10 X (1.7X W ) X L? = 1/10x 1.7 x 1.875x 1012 = 31.875 t-m

RS Lfc = 210 kgf/cm?
m= fy / 0.85f'c = 4200/ (0.85x210) = 23.53
Rn =Mu/ (¢ bd?) = 31.875x100000 /(0.9 x (20x2)
p=1/mx (1- sqrt(1-2mRn/fy))= 0.00269
As= pbd = 9.68 cm? ---> use 4-#6 (BOT)

HEKB SR ARB A

Vu=1/2x1.7xwey xL=1/2x1.7 x1.875 x10 = 15.94 ton
dVc = 0.85x0.53x sqrt(210) x40x 9 23.50 ton >Vu ...
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SBARERA4200 kgf/cm? - FRARERETINT -

x (80+20-10)72) 10.93
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